Name:..........................................................................................................................................



Section A: Can I draw stem and leaf diagrams? ( ( (

1.

2.
Section B: Can I interpret stem and leaf diagrams? ( ( (
1.                                                         2.
Section C: Can I draw Pie Charts from a table of data? ( ( (
	Least liked
colour
	Number of
people
	Angle (to the
nearest degree)

	Blue
	137
	

	Green
	64
	

	Red
	23
	

	Yellow
	205
	

	Purple
	3
	

	Total
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Section D: Can I interpret data from a Pie Chart? ( ( (
[image: image2.png]Can you interpret pie charts? Level 5¢

1 Jenny drew a pie chart to show the numbers of different pets on
her street.
a Which is the most common pet? How can you tell?
b What fraction of the pets are cats? d
logs
¢ There are three hamsters. 0.

How many pets are there altogether? 6

i Entertainment
2 The Cox family spent £1,600 each month. Household bills _Entertainmen

The pie chart shows what they spend their money on.
Indicate which statements are true or false.
a They spend 25% of their money on household bills.
b Their rent is £800.
¢ One third of their money goes on groceries and enterfainmen)
d Household bills cost less than £200.




Stem and Leaf Diagrams are a way of organising data. 








Stem and Leaf Diagrams 





Put these numbers in the stem and leaf diagram.





72, 45, 55, 71, 40, 59, 65, 52, 43, 79, 47, 57.





Rough version                               Neat version
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    For the neat version make sure leaves are in order from smallest to largest and written in columns.





Put these numbers in an ordered stem and leaf diagram.





35, 67, 43, 59, 53, 31, 60, 45, 55, 39, 48, 53, 40, 49
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Highest value = ............





Smallest value = ..........





Range = ...................





Mode = ....................





Median = .................
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Highest value = ............





Smallest value = ..........





Range = ...................





Mode = ....................





Median = .................














